

CONTACT CONFORMAL IN -SASAKIAN MANIFOLD

Shailendra Kumar Gautam*

In this paper, we have defined two quarter symmetric metric-F-T-connections in a Trans sasakian manifold, we have shown, by following the patterns of K. Yano (1976) and Mishra and Pandey (1980)

1. INTRODUCTION

Let V_n ($n= 2m+1$) be an almost contact metric manifold equipped with a structure tensor F , of type (1.1) a contravariant vector T , a 1-form A and a metric tensor g , satisfying

$$(1.1)(a) \quad F^2X = -X + A(X)T \qquad (b) \quad FT = 0 \qquad \text{and}$$

(1.2)(c) $g(T, X) = A(X)$ Also, a fundamental 2-form 'F' in V_n is defined as

$$(1.3) \quad \lrcorner F(X, Y) = g(\bar{X}, Y) = -g(X, \bar{Y}) = -\lrcorner F(Y, X)$$

Then we call the structure bundle $\{F, T, A, g\}$ an almost contact metric structure.

An almost contact metric manifold V_n is said to be normal if

$$(1.4)(a) \quad (d \lrcorner A)(X, Y) + 2 \lrcorner F(X, Y) = 0 \quad \text{where,}$$

$$(1.4)(b) \quad (d \lrcorner A)(X, Y) = (D_X A)(Y) - (D_Y A)(X)$$

Here D is the Riemannian Connection and 'd' is the exterior derivative in V_n

with regard to the metric tensor g .

*Department of Mathematics, Eshan College of Engineering

Now, an almost contact metric structure $\{F, T, A, g\}$ on V_n is called trans-sasakian structure [2], [3], if

$$(1.5) \quad (D_x F)(Y) = \alpha(g(X, Y)T - A(Y)X) + \beta\{F(X, Y)T - A(Y)\bar{X}\}$$

It can easily be seen that a trans-sasakian manifold is normal and in view of (1.5) one can easily obtain in V_n the relations

$$(1.6)(a) \quad D_x T = -\alpha\bar{X} + \beta(X - A(X)T) \quad \text{and}$$

$$(1.6)(b) \quad (D_x A)(Y) = -\alpha F(X, Y) + \beta g(\bar{X}, \bar{Y})$$

REMARK

- (1) In the above and in what follows, X, Y, Z, \dots , etc. are tangent vector fields in V_n .

2. CONTACT CONFORMAL CONNECTION IN A TRANS-SASAKIAN MANIFOLD

Let us consider a conformal change of the metric tensor g which induces a new metric tensor, given by

$$(2.1) \quad \tilde{g}(X, Y) = e^{2p} g(X, Y)$$

with regard to this metric we take an affine connection B , which satisfies:-

$$(2.2) \quad (B_x \tilde{g})(Y, Z) = B_x \{e^{2p} g(Y, Z)\} = e^{2p} p(X) A(Y) A(Z),$$

where p is a scalar point function in V_n and

- (2.3) being covariant derivative of the scalar p with respect to the metric tensor g , is a 1-form in V_n , where contravariant vector is P . Further, we assume that the torsion tensor of the connection B satisfies:-

$$(2.4) \quad S(X, Y) = -2F(X, Y)U$$

where U is certain contravariant vector field. In view of (2.2) and (2.4), we can easily obtain a relation between the connection B and the Riemannian Connection D [1], given by

$$(2.5) \quad B_y Z = D_y Z + \{Y - A(Y)T\} p(Z) + \{Z - A(Z)T\} p(Y) \\ - g(\bar{Y}, \bar{Z}) p + u(Y)\bar{Z} + u(Z)\bar{Y} - F(Y, Z)U,$$

where, $u(X) \underline{\underline{def}} g(u, X)$

Now, we suppose B an F-connection so that

$$\begin{aligned} (B_y F)(Z) = 0 &= (D_y F)(Z) + \{Y - A(Y)T\} p(\bar{Z}) - p(Z)\bar{Y} + p(Y)\bar{Z} - p(Y)\bar{Z} \\ &+ F(Y, Z)P + g(\bar{Y}, \bar{Z})p + u(Y)\bar{\bar{Z}} - u(Y)\bar{\bar{Z}} + U(\bar{Z})\bar{Y} + u(Z) \\ &\{Y - A(Y)T\} - g(\bar{Y}, \bar{Z})U + F(Y, Z)\bar{U} \end{aligned}$$

Using (1.5), the above relation becomes

$$\begin{aligned} \alpha \{g(Y, Z)T - A(Z)Y\} + \beta \{F(Y, Z)T - A(Z)\bar{Y}\} + p(\bar{Z})\{Y - A(Y)T\} \\ - p(Z)\bar{Y} + F(Y, Z)P + g(\bar{Y}, \bar{Z})\bar{P} + u(\bar{Z})\bar{Y} + u(Z)\{Y - A(Y)T\} \\ - g(\bar{Y}, \bar{Z})U + F(Y, Z)\bar{U} = 0 \end{aligned}$$

Contracting the above equation with respect to Y, we have

$$\begin{aligned} -2m\alpha A(Z) + 2mp(\bar{Z}) - p(\bar{Z}) + 2mu(Z) - u(Z) + A(Z) - u(Z) \\ + A(u)A(Z) = 0 \end{aligned}$$

or $2(m-1)p(\bar{Z}) + 2(m-1)U(Z) - 2A(Z)\{m\alpha - A(u)\} = 0$

If we put

$$A(U) = u(T) = \alpha, \text{ then}$$

$$(2.6)(a) \quad u(Z) = \alpha A(Z) - p(\bar{Z}) \quad \text{or}$$

$$(2.6)(b) \quad U = \alpha T + \bar{P}$$

here, we put $Q = \bar{P}$ so that $q(Z) = g(Q, Z) = -p(\bar{Z})$ and $p(Q) = q(P) = 0$,

then (2.6) becomes

$$(2.7)(a) \quad u(Z) = \alpha A(Z) + q(Z) \quad \text{and}$$

$$(2.7)(b) \quad U = \alpha T + Q$$

Using (2.7) in (2.5), we have

$$\begin{aligned} (2.8) \quad B_y Z = D_y Z + (Y - A(Y)T)p(Z) + \{Z - A(Z)T\}p(Y) \\ - g(\bar{Y}, \bar{Z})P + \{\alpha A(Y) + q(Y)\}\bar{Z} + \{\alpha A(Z) + q(Z)\}\bar{Y} \\ - F(Y, Z)\{\alpha T + Q\} \end{aligned}$$

Further, we suppose that B is a T-connection,

Then

$$B_y T = 0 = D_y T + p(T)\{Y - A(Y)T\} + \alpha \bar{Y}$$

Using (1.6)(a) in this equation, we have

$$-\alpha\bar{Y} + \beta\{(Y-A)T\} + p\{Y-A(Y)T\} + \alpha\bar{Y} = 0$$

which implies that

$$(2.9) \quad p(T) = A(P) = -\beta$$

Proposition (2.1): In a Trans-sasakian manifold the affine connection B, which is an F-T- connection and whose torsion tensor satisfies (2.4), is given by (2,8) with the conditions $u(T)=a=A(U)$, $p(T)=-b=A(P)$

REFERENCES

1. Mishra, R.S. : Structures on differentiable manifold and their application, Chandrama Prakashan Alld.
2. D.E. Blair and J.A. Oubina : Conformal and related changes of metric on the product of two almost contact metric manifolds, Pub. Matematiques 34 (1990), 199-207.
3. K. Yano : On Riemannian manifolds-admitting an infinitesimal
a. conformal transformation, Math. Z-1 13 (1970), 205-211.
4. K. Yano : On a structure defined by a tensor field f of the type (1,1) satisfying $f^3+f=0$. Tensor N.S., 14 (1963), 99-109.
5. Kenmotsu, K. : Invariant submanifolds in a Sasakian manifold, Tohoku Math.
a. J. 21 (1960), 495-500.
6. Kobayashi : CR - Submanifold of a Sasakian manifold, Tensor, N.S. 35
a. (1981), 297-307.
7. Mishra, R.S. and Pandey, S.N. : On quarter symmetric metric F-connection Tensor N.S. 34 (1980), 1-7.
8. Tripathi, M.M. and De, U.C. : Lorentzian almost para contact manifolds and their submanifolds, Korean Society Mathematical Education Series B., Pure and Applied Mathematics 8(2)(2001); 101-125.
9. M. Atceken, F-invariant submanifolds of Kaehlerian product manifold, *Turk. J. Math*, 28 (2004), 367-381.